VCE & PDF https://www.passapply.com/312-49v10.html
2024 Latest passapply 312-49V10 PDF and VCE dumps Download

PassApply.com

312-49Vv100%As

ECCouncil Computer Hacking Forensic Investigator (V10)

Pass EC-COUNCIL 312-49V10 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/312-49v10.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EC-
COUNCIL Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

312-49V10 PDF Dumps | 312-49V10 Exam Questions | 312-49V10 Braindumps 1/3


https://www.passapply.com/312-49v10.html
https://www.passapply.com/312-49v10.html
https://www.passapply.com/312-49v10.html

VCE & PDF https://www.passapply.com/312-49v10.html
2024 Latest passapply 312-49V10 PDF and VCE dumps Download
PassApply.com

QUESTION 1
What does the part of the log, “% SEC-6-IPACCESSLOGP”, extracted from a Cisco router represent?

A. The system was not able to process the packet because there was not enough room for all of the desired IP header
options

B. Immediate action required messages

C. Some packet-matching logs were missed because the access list log messages were rate limited, or no access list
log buffers were available

D. A packet matching the log criteria for the given access list has been detected (TCP or UDP)

Correct Answer: D

QUESTION 2

During forensics investigations, investigators tend to collect the system time at first and compare it with UTC. What does
the abbreviation UTC stand for?

A. Coordinated Universal Time
B. Universal Computer Time

C. Universal Time for Computers
D. Correlated Universal Time

Correct Answer: A

QUESTION 3

After suspecting a change in MS-Exchange Server storage archive, the investigator has analyzed it. Which of the
following components is not an actual part of the archive?

A. PRIV.STM
B. PUB.EDB
C. PRIV.EDB
D. PUB.STM

Correct Answer: D
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QUESTION 4

The Recycle Bin is located on the Windows desktop. When you delete an item from the hard disk, Windows sends that
deleted item to the Recycle Bin and the icon changes to full from empty, but items deleted from removable media, such
as a floppy disk or network drive, are not stored in the Recycle Bin.

What is the size limit for Recycle Bin in Vista and later versions of the Windows?

A. No size limit

B. Maximum of 3.99 GB

C. Maximum of 4.99 GB

D. Maximum of 5.99 GB

Correct Answer: A

QUESTION 5

Paraben Lockdown device uses which operating system to write hard drive data?Paraben? Lockdown device uses
which operating system to write hard drive data?

A. Mac OS

B. Red Hat

C. Unix

D. Windows

Correct Answer: D
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